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1) In the diagram below of AABC, DE isa midsegment of AABC, DE=7, AB=10,and BC = 13. Find the
perimeter of AABC.
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2) In AABC, D is the midpoint of ABand Eis the midpoint of BC. If AC=3x—15and DE = 6, what is the value

of x?
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3) In the diagram below of trapezoid RSUT, RS l TU, X is the midpoint of RT,and Vis the midpoint of SU. If
RS =30 and XV =44, what is the length of ﬁ?
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4) In the diagram below, EF is the midesegment of trapezoid ABCD. If AB=3x-9, DC=x+3,and EF=2x+2,
what is the value of x?




